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MIRECTEONG:
Do not open this booklet until you are told to do so.

This is a to-,.{, of your campetence in high school algebra. For cach problem
wa are listed 5 possible answers; one and only one is correct. You are to work
each problem, determine the correct answer, and indicate your choice by making a
heavy black mark in the correct place on the separate answer sheet provided. You
puast use a pencil with soft lead (No. 2 lead or softer). A sanple problem follcows:

1. If 2x = 3, then x equals
A
{a). 2/3. €5) I B (c). 6. [-’

1.

|

The correct answer for the sample problem is 3/2, which is answer (d); so you
11d answer this problem by making a heavy black mark wnder gpace D as indicated

shaove.

a. 3/2 (). none of these

This test has been constructed so that most of you are not expected to answer
all qu-mtwn Do your very best on the cquestions you feel you know how to worlk.
vou will be penalized for incorrect answers so it is advisable not to do much wild

URSE L.

TF you should change your mind about. an answer, be suwre to erase completely.,
Do not nark nore than one answer for any problem.  Make no stray marks of any xind
on your answel sheet.

The answer sheets will be used for o statistical compilation end will not
be returned to you. I you wish a yecord of your performance, mark your answers
in this booklet also. You will be able to keep this booklet after the test is
completad,

When told to do so, open your test booklet (o page 1 and bogin.  When you
have finished one page, go on to the next. The working time for the entine test
is B0 mirmates,



1. Find the solution set for the following ineguality: -2% + 5 < 2x - 9,

) {xr x> 13
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() 11 - 2430

(@) 11 - Vil

3. A straight line crosses the x axis at -2 arnd the v axis at 4. Which of the
following is an equation for this line?

(&) 2w+ dy = 1
(by o= 2y + 4

1 .
._2_y -

{e) none of the abhove

4, The renainder when x° ~ 3 is divided by x + 1 is

{2} none of the sbove



5. Yactor 9;{2 - y2 - 4y - 4 campletely.
(a) Camot be factored
By Bx -v+2) Bx+y -~ 2)
(@) {3+ yv+2) (3x -~y + 2)
(d) 3wy ~2) CBx+y -+ )
(&) (Bx -y - 2) (+y+ 2)

6. 6 = 2710 is eguivalent to

by 6 + V10

7. 1f X = 1/2 then R 1 o e

(a) 2
by 3/5
¢y 4/3

(dy 3/4

(e} none of the above




.

16.

11

I Y varies inversely as the square of X and Y = 2 when X = 4,
what is ¥ when X = 27

{a) 1
(b) 1/2
(¢} 4
() 8

If a and b are real nuwbers and a > b then which of the following is true?
{a) If b<0 then a <0
(b) If b=>0 then a > 0
(¢) If b <0 then a > 0
(d) If a>0 then b > 0

ey If a> 0 then b < 0

Which pair of points determine

the line 5x - 2y = ~12

(a) L,N FeL{3,3)

(b) R.,[:J e%(\(_g} )

(C) K’N SERURRPEN PRSP IR Lo ' e,
: e L H{3,-1)
(@) KM N 2)

(@) M,N

A 30 ounce container is filled with a fruit drink which is 10% pure
orange juice. How many cunces must be replaced by pure orange Julos
to make the drink 20% pure orange juice?

(a) 2
by 3
{ey 10/3




12, In a right triangle the length of the hypotenuse is 25 in. and the length
of one leg is 7 in. How long is the other ley?

() 1B in.

() 24 in,

() 10 in.

() 32 in.

(@) none of the above

13, If  F(x) = ax + 1 and  gi{x) = x4+ a and Flgx)) = g{f(x))

for all =%, then a = ?
(0 Cor 1

by 1 only

{cy O only

{y  Any real number

{@y No solution for a

14. Por all real munbers ¥y / = 7
{a) =

{h) -x

15, If 4 =1 and 5= 1/5 then x+y=7?

d) -3/4

(@) x4y is not uniquely determunsd
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14,

17.

19.

OCne hundred people were polled and 55 said they watch football on TV,
35 watch basketball on TV, and 35 watch neither on TV. How many of
the 100 people watch both on TV?

(a) 10

{Ix) 15

{c)y 20

() 25

{&) 30

The equaticn VX ~ 1 = x + 1 has how many real solutions?

{a) 0O
by 1
(¢} 2
() 3
(@) 4

What is the solution set of the following inequality? »x + 58 ~ 6 > 0

(a) {x: =<2 or x> 3}

ko
A
e
A
w
o

(b)  {=:
ey {x: 2 <x < 3}

{d) dx: x <~ or x> 6}
{e) the enpty (or null) set

3 . ,
=om Y . TE the diameter

Lty ol

The volune V of a sphere of radius r is given by V = -
of a sphere is doubled, how is the volure changed?

() Multiplied by 8
(h)  Multiplied by 2
(c} Unchanged

@y Maltiplied by 4

{2} MNone of the above




20, Fram a sult of 13 cards how many different hands of 3 cards can be dealt?

21, Find the solution set of the equation |5 - z| = 2.
(a) {3}
by {3,7}
(c) {xz 3 < x < 7}

(&) the empty {or null) set

{&) none of the above

{a) 256

(h)y 17256
{c) -256/3
(d)  3/256
() -256

23, If A= {a,b,{bl} and B = {a,/b} which of the following statemsnts is
talse?

{a) BaA
() {b} ¢ A
() (b} e B

(@ (b€ A

(e} bie B




26.

27.

(a) O
‘i, ______ ..
L) V32 - Vie2
&

{0} none of the above

If the function £ = {{1,2), (2,3}, (3,2), {4,1}}
(@) ({22}, (3,2}, (0,4)}

(o) {(2,0), (3,2), (2.3), {1,4)}

o) (L2, (2,3), (3.2), (4,1

@ {(1,1, @2, (3,3), 4,4}

(e} does not exist

If 2 = ~1 then x =7

(@) none of the above

7

then the inverse of

The rangers working in a state parik wanted to know the approximate size of

the chipmunk population in the park,

Prom several locations in the pavk

they captured 180 chipounks, marked them, and sel then free again. The
foellowing week they captured 150 chipumnks and among these were 20 marked

ohipmitks.
(a) 2400
by 330
() 310

(dy 4800

What is the estimated size of the chijpmunk population?




28.

Y.

3L.

1t ax2 - _]:-x +
2
28
112
1/7
1/112

The roots of a quadratic eguation are

none of the above

-13/9
13/3
3

3/13

then x = 72

none of the above

represents this egquation?

2
3‘}{ + /.5}: -L o

9};2 b oK -

2 |
Oy = B =

2

9 4+ Gy~ 4 =0

2

9 ~ 0 - 4 = 0

0

-1+ /5

3

8

has equal roots then what is a?

Which of the following

The coordinates of the point of intersection of the graphs of

2X = By + 2 = 0

(a)
(1)
(c)
(d}
(2)

{(2,1)
(=1,3)
(9/4,11/6)

(~11/2,-3/2)

and

X~ 3y + 10 = 0 are

none of the above




4.
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If the length L of a rectangle is increased by 2 in. and the width W
is decreased by 2 in. then the area is increased by 4 square in.
Which of the following is truse?

(a) W= 1L

by WL =4

)y W41 =4

(&) none of the above

If fi{x) = ;2}{?' + x  then £(4)/£(2) =
(a) £(2)

(b) 18

(c} 10

{dy 5/18

(@) 18/5

1f % =72 - VL xy=V3- V2 xg= /B - /3 xy = /Hoo- Ve,

and ¥p = 6~ /5 then 3+ X, bRy b Ky b Kg = ?

(&) V20 - Vis

) V5
¢y 0
@) 5
() V6 - 1

The least common maltiple of 16 and 36 is

{a) 576

() 288
{(¢) 144
{cdy 72



36.

38,

3%.

18

2

Mrd the solution set of (s + 137 = T+ 7 4+ 124z + 1) = 0.

(a) £2,3})

by {-1,3,4;

(C‘-) ‘{ ”"l: 2 ¥ 3,"

(d) {3,4}

{e) {0,

3.4}

+ :{N‘Z/ ‘j)(3 = 7

-4/3
X

s

ZXMJ"/ 3 + XMJL/B

() =+

(¢} =+ :&4/3

{d) x + xml/ﬁ v x4
(e} =+ ZEX.MJ'/G by Y3

If £(x) = 2%+ 1 then £(2 + h) - £(2} o

{a)y 1

Il

(Y £y

(@} 2

@ -1

() 4l + 1

ot ooooooxE L
The axpression 5 P is equivalent to
¥ o~ 4 ¥o-x -2

(a) Or

®# -1

(b) -3/(x% ~4), x# -1

(©) OGx+ 1)/(x" ~4), x# = 1

]
) 3% -2 -2, xF -1

{@) none of the above




40.

1t

¥ x and y are integers, then the number of solutions of the

inequality x| + [yl <3  is

(a) 3
L) 6
() 12
(@) 25

{2) none of the above




